Livonia Public Schools

Business Services Office

Date: September 8, 2015

To: Andrea Oquist, Interim Superintendent

From: Lisa Abbey, Assistant Superintendent of Business Services

Re: PEP Physical Education Equipment Purchase

We would like to discuss the physical education equipment purchase at the next Finance Committee meeting on September 14, 2015.

We are recommending the physical education equipment to be purchased from U.S. Games of Dallas, Texas at a total cost of \$25,107.96. U.S. Games was awarded a contract for athletic and physical education equipment from the U.S. Communities Government Purchasing Alliance. All U.S. Communities contracts are competitively solicited in accordance with its purchasing rules and regulations. Please find the attached recommendation and equipment list from Harry Lau, Administrator of Facilities and Operation.

The funding source for this purchase will be from the Carol M. White Physical Education Program (PEP) Grant. Please feel free to contact me if you have any questions.

LA/kp

Attachments

c: Board of Education

LIVONIA PUBLIC SCHOOLS

Facilities & Operations Department

Memorandum

TO: Lisa Abbey, Director of Business Services

FROM: Harry Lau, Administrator of Facilities and Operations

DATE: May 20, 2015

SUBJECT: Recommendation for the Purchase of Physical Education Equipment

I am recommending and seeking approval to purchase physical education equipment from U.S. Games of Dallas, Texas at a cost of \$25,107.96. U.S. Games was awarded a contract for athletic and physical education equipment from the U.S. Communities Government Purchasing Alliance. All U.S. Communities contracts are competitively solicited by a lead public agency in accordance with its public purchasing rules and regulations. Each solicitation contains language allowing public and private schools, and institutions of higher education to purchase from those contracts.

This physical education equipment will benefit all of the secondary schools. The funding source for this purchase will be from the Carol M. White Physical Education Program (PEP) Grant. A list of equipment to be purchased is attached.

If you have any questions, please call me. Thank you.

Attachment

U. S. Games Equipment List Carol M. White Physical Education Program (PEP)

	Item Description	Qty/UOM	Unit Price	Extended Price
1	VOIT PLAYGROUND BALL 8.5" RED	24 EA	\$3.77	\$90.48
2	VOIT PLAYGROUND BALL 10" BLUE	6 EA	\$4.88	\$29.28
3	LICORICE SPEED ROPE 9'-GR	35 EA	\$2.71	\$94.85
4	DYNA-BAND ROLL-PU	3 EA	\$119.59	\$358.77
5	WORK OUT BAR STORAGE RACK	1 EA	\$142.79	\$142.79
6	WILSON EVOLUTION BASKETBALL	12 EA	\$45.99	\$551.88
7	36" GAME/BOUNDARY CONE - ORANGE	2 SET	\$163.80	\$327.60
8	EVERLAST MANTIS MITTS	5 EA	\$40.99	\$204.95
9	CLEAR POCKET CONE COVER SET OF 6	2 SET	\$14.03	\$28.06
10	POLY FIT-SPOTS-SET OF 10	1 SET	\$41.80	\$41.80
11	ULTRA PRO II GOALIE MASK-WHT - SET OF 2	1 EA	\$91.99	\$91.99
12	4 SIDED VERTICAL DUMBBELL RACK	1 EA	\$227.79	\$227.79
13	HEX DUMBELL W/STRAIGHT HANDLE 5LB	3 EA	\$5.94	\$17.82
14	HEX DUMBELL W/STRAIGHT HANDLE 10LB	4 EA	\$11.04	\$44.16
15	HEX DUMBELL W/STRAIGHT HANDLE 15LB	3 EA	\$16.99	\$50.97
16	HEX DUMBELL W/STRAIGHT HANDLE 20LB	3 EA	\$22.09	\$66.27
17	MONSTER BALL CART	1 EA	\$245.99	\$245.99
18	VOIT 6.25" SOFTI TUFF BALL - SET OF 6	1 EA	\$61.61	\$61.61
19	TUBING EXERCISES HOTSPOTS	3 SETS	\$38.99	\$116.97
20	CORE EXERCISES HOTSPOTS	2 SETS	\$38.99	\$77.98
21	EXERCISE BALL HOTSPOTS	2 SETS	\$38.99	\$77.98
22	JUMP ROPE HOTSPOTS	3 SETS	\$38.99	\$116.97
23	MEDICINE BALL HOTSPOTS	2 SETS	\$38.99	\$77.98
24	PENN RACQUETBALL - 12 BALL CANISTER	9 EA	\$19.50	\$175.50
25	YOGA MAT 24" X 68" PURPLE	80 EA	\$16.14	\$1,291.20
26	BSN SPORTS HEAVY DUTY INFLATOR	1 EA	\$151.69	\$151.69
27	POLY AEROBO CIRCUIT SET OF 10	1 SET	\$45.08	\$45.08
28	URBAN REBOUNDER	3 EA	\$191.24	\$573.72
29	DISCATCHER TRAVELER 9 TARGET COURSE	1 SET	\$1,223.59	\$1,223.59
30	CANDO EXERCISE TUBE W/HANDLES RED	10 EA	\$9.34	\$93.40
31	CANDO EXERCISE TUBE W/HANDLES GREEN	10 EA	\$10.19	\$101.90
32	SUPER STATION CALISTHENICS	1 SET	\$38.99	\$38.99
33	MODIFIED PULL UP BAR	1 EA	\$551.99	\$551.99
34	BOSU PRO BASIC	21 EA	\$135.00	\$2,835.00
35	REACTOR WORK OUT BAR 4LB	2 EA	\$22.94	\$45.88
36	REACTOR WORK OUT BAR 6LB	2 EA	\$28.04	\$56.08
37	REACTOR WORK OUT BAR 9LB	2 EA	\$30.59	\$61.18
_	REACTOR WORK OUT BAR 12LB	2 EA	\$34.84	\$69.68
	REACTOR WORK OUT BAR 12LB	10 EA	\$34.84	\$348.40
	REACTOR WORK OUT BAR 15LB	8 EA	\$39.09	\$312.72
_	REACTOR WORK OUT BAR 18LB	2 EA	\$43.34	\$86.68
	10LB KETTLEBELL	4 EA	\$19.54	\$78.16
-	15LB KETTLEBELL	4 EA	\$28.89	\$115.56
44	20LB KETTLEBELL	4 EA	\$39.94	\$159.76
-	10LB VINYL COATED KETTLEBELL LT BLUE	12 EA	\$23.79	\$285.48
	15LB VINYL COATED KETTLEBELL RED	9 EA	\$35.69	\$321.21
_	20LB VINYL COATED KETTLEBELL YELLOW	2 EA	\$45.04	\$90.08
_	25LB VINYL COATED KETTLEBELL ROYAL	2 EA	\$57.79	\$115.58
_	30LB VINYL COATED KETTLEBELL ORANGE	2 EA	\$67.99	\$135.98
_	35LB VINYL COATED KETTLEBELL KELLY	1 EA	\$80.74	\$80.74
_	ULTIMATE FRISBEE 175G	6 EA	\$10.91	\$65.46
_	LIGHTWEIGHT RUBBER MEDICINE BALL PAK	6 SET	\$101.99	\$611.94
53	COMPLETE RUBBER MEDICINE BALL PAK	1 SET	\$220.99	\$220.99

U. S. Games Equipment List Carol M. White Physical Education Program (PEP)

	Item Description	Qty/UOM	Unit Price	Extended Price
54 OLYM	IPIC GRIP PLATE 45LB	2 EA	\$56.09	\$112.18
55 BALAI	NCE MASTER	2 EA	\$56.15	\$112.30
56 EVA H	IALF ROLLER	6 EA	\$20.39	\$122.34
57 HEAV	Y ROPE 4LB	8 EA	\$55.19	\$441.52
58 RESIS	TANCE TUBE/ROPE CART	1 EA	\$88.55	\$88.55
59 MUSC	CLE GROUP HOTSPOTS	1 SET	\$38.99	\$38.99
60 NEOP	RENE DUMBBELL-MAGENTA 3LB	11 EA	\$4.67	\$51.37
61 NEOP	RENE DUMBBELL-PURPLE 4LB	12 EA	\$6.89	\$82.68
62 NEOP	RENE DUMBBELL - BLUE 10LB	8 EA	\$17.47	\$139.76
63 SLAST	IX COVERED TONER-MEDIUM	6 EA	\$19.54	\$117.24
64 SLAST	IX COVERED TONER-HEAVY	6 EA	\$21.24	\$127.44
65 SLAST	IX COVERED TONER-VERY HEAVY	6 EA	\$22.94	\$137.64
66 DOT 0	ORILL MAT	6 EA	\$51.84	\$311.04
67 YOGA	BLOCKS 4" - BLUE	30 EA	\$15.63	\$468.90
68 DISC 0	GOLF SCHOOL PACK	1 PAC	\$155.99	\$155.99
69 ACTIV	ITY MAT PRISM PACK	1 SET	\$85.79	\$85.79
70 REAC	TOR 45CM ANTI-BURST FITNESS BALL	6 EA	\$24.64	\$147.84
71 REAC	TOR 55CM ANTI-BURST FITNESS BALL	18 EA	\$26.34	\$474.12
72 REAC	TOR 65CM ANTI-BURST FITNESS BALL	18 EA	\$28.04	\$504.72
73 REAC	TOR 75CM ANTI-BURST FITNESS BALL	6 EA	\$33.14	\$198.84
74 KETTL	EBELL STORAGE RACK	2 EA	\$254.99	\$509.98
75 6" RU	BBER KETTLEBELLS - MINI 8LBS	6 EA	\$44.19	\$265.14
76 6-TIEF	R ROLLING MEDICINE BALL RACK	1 EA	\$254.19	\$254.19
77 CARD	IO HOTSPOTS	1 SET	\$38.99	\$38.99
78 PRO B	BAG GLOVES	10 EA	\$29.50	\$295.00
79 STABI	LITY BALL WALL RACK	2 EA	\$64.39	\$128.78
80 FITNE	SS ROPES - 1.5" 30' BLACK	8 EA	\$106.24	\$849.92
81 FITNE	SS ROPES-1.5" 40' BLACK	1 EA	\$127.49	\$127.49
82 INTER	MEDIATE 4 PIECE PLYOMETRIC SET	1 SET	\$441.99	\$441.99
83 POWE	ER ROPE ANCHOR STATION	2 EA	\$169.99	\$339.98
84 CORE	WHEELS	20 PR	\$42.49	\$849.80
85 US GA	AMES LAVA ROX	1 SET	\$46.79	\$46.79
86 4.5" C	CURL-UP MEASURING STRIP	6 EA	\$5.94	\$35.64
87 SMAR	RT MAT 16MM (GROMMETS)	3 EA	\$50.59	\$151.77
88 QUICH	KSTART MAXI-NET 18"L	2 EA	\$131.19	\$262.38
89 21' PC	ORTABLE BENCH W/O BACK ROYAL	4 EA	\$401.79	\$1,607.16
90 MULT	TFIT SYSTEM - BLACK	1 EA	\$1,147.49	\$1,147.49
91 REPLA	ACEMENT END CAPS / SCREWS (6EA)	2 PAC	\$8.19	\$16.38
92 2 3/8	ID RUBBER CAP	4 PAC	\$30.32	\$121.28
93 WAVE	MASTER SUPER X	<u>1 EA</u>	\$210.00	<u>\$210.00</u>
	TOTAL:			\$25,107.96